= 20| 2tA|

20 +ay =8 _ _ mx +ny = —4
1. ag33A o a7t (2,-2) LUl | 5.z, y ol BE AYTYA o
bx — 6y = nr —2my = —2
atb ol e o] wAe] A (2,1) 2 v, m, n € T Tt
H?
-6 @4 @@-2 ®-1 OO0
O m=1n=2 @ m=2n=1

®m=-1,n=-2 @ m=1,n=3

® m=2 n=-1
3+ ay = —06
1A ! o] 57} (2, -3) & u,

br —5y =17

atb ol L Fotofet.

=]

6. AHYAHA 20+5y+1=2(z+y) =62 3NE (I, m)
ofzt & uj, I —2m 9] gk= Fstof=th

20—y =3
5t + 4y = -2
pr—qy=4 ~ ol
7. AETAA o 87t (-1,2) 4 m,
pr+qy=1
p+a 9 B Fotoler,
3x—-2y=0 ---Q
AFHA g WHA7IE 0 9 . ;
H = = 51 o ElHFA Al o] Fli7} &
oy D 8. .y ol U ALY b, (92 S7F 2 W, 0t
o e o g7
grol 2 4w, y + b ©f gL Fateler =
5z 4+ 3y = ax — 2by = —2
v ()
axr + by =13 dr —Ty =15

-1 @0 @1 @ 2 ® 3




| "
S ;
<~ T o
U __
R oju — N
o RE _ -
! 2
< + =
+ S s
~ = [y
[ wrm ~ o T
20 S N
+ | o
8 5y o N LE
C 1 o N -
— = G -
- o mo o oo I
M_.V = ~ o+ R
X o 5 ] S D N
e T wm LR
e o 8 & w
1 o
9 3
?_. = g _5_ S
olJ Il e} -
[ty
oSS > ,M._m pr B
U‘Hl‘._ MOIO/ a.; ﬂmﬂ OH :.:
3 S I o A ™ 0 0
T = S S Wy +
ol ® S ® ® O 3 &
T e Coloop T
mH of GSS 8 >
—_ — = o r.a_. a| Q @
= 10 — 0 )
. 0 ~ | 5 g
B - T = |5 .
ﬂ & Q o IS I Luw
W - = - = [ =~ > 2 F
TS e @ s § 7 ® @ s ¥R
m_M = 3 H 2 & & & Wu_ 2,55,25_,4
< N
2T 5 —= -5 ot t |
™ B & = © ~r KO Am_.v a) S Q —~e
o - - - O mo o Iees X — I I [
B nﬁ _ IS 7o MLH, WW_ IW > o H g 8 =
8 8 - ol N WO o
PSS o e T owa © O D omm © © @
=} -
=) — —




